	The data from the ANOVA in RStudio was used to determine a single overall decision as to whether a significant difference is present among three or more groups. For more background these questions were chosen to be the most significant to answer my research question. My research question is “What optional activities can we evaluate that encourage parental involvement within 3-5-year olds in low income communities?” Therefore, the dependent variable in the test stated, “On a scale from 0-10, how much did this activity help to improve you and your child’s/children’s relationship?” Along with the dependent variable, there was an independent variable. The independent variable stated, “How long did it take you and your child/children to complete the activity?” The four groups used in the ANOVA are “0-10 minutes,” “11-20 minutes,” “21-30 minutes,” “30 plus minutes.” In Table 2, the mean is the average of each individual group. Table 2 also shows the sum of squares, which is the first step for measuring total variation. Also, as the variation between and within the four groups and came out to be 6.708. The mean of squares shows the mean between and within the four groups and came out to be 6.7080. The p-value is .262 and means that there is no significant difference between how long the activity took to complete and how much did the activity help improve parental involvement. Seeing that the p-value of .262 is not less than .05; the note at the bottom of Table 2 corresponds. 
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ANOVA of Duration of Completion of Activity and Improvement of Parental Involvement on the Noodle Necklace Activity			
	Minutes
	Mean
	Standard Deviation
	Sum of Squares
	Mean of Squares
	F-value

	0-10
	7.900
	3.134
	
	
	

	11-20
	7.727
	3.068
	
	
	

	21-30
	8.500
	1.900
	
	
	

	30+
	8.818
	2.136
	6.708
	6.7080
	0.9832


Note: p>.05, p>.01, p>.001
